MEASUREMENT

A. Convert the following into the units given in the brackets.

1. 653 cm= (metres and centimetres)
2. 5160 cm = (metres and centimetres)
3.53m2cm= (centimetres)
4. 5m50cm= (centimetres)
5. 9000 m = (kilometres)
6. 4000 m = (kilometres)
7. 50km50m= (metres)
8. 64kmlm= (metres)
9. 8kgb40g= (grams)
10. 3kg2g= (grams)
11. 1500 g= (kilograms and grams)
12. 7956 g= (kilograms and grams)
13. 8 litres 263 millilitres = (millilitres)
14. 9505 millilitres = (litres and millilitres)
B. Add.

1. 5kg210g+12kg30¢g

C. Subtract.
1. 16 kg 530g—-4 kg 200 g
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2. 18kg52g+6kg548¢g

Worksheet

2. 71kg600g—-50kg22¢g




D. Solve.

1. Rupa has to put up 10 banners for an event. Each banner is 320 cm in length. What is the total
length of all the banners? Express in metres.

2. Ten workers share the work of paving a footpath. The footpath is 5 km 600 m long. One set of
five workers has completed paving 2 km 800 m of the footpath. What is the distance that the
other set of workers has to pave? Have the two sets of workers shared the work equally
between themselves?

3. Rima had a 2-litre bottle full of water. She filled 4 glasses of 200 m/ each with water from the
bottle. How much water is left in the bottle?

4. Ramesh’s father asked him to paint the garden fence. He gave Ramesh a 2 litre can of brown
paint. Ramesh needed 1 ¢/ 850 m/ of paint to complete the task. How much paint remained
unused?
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